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i) General Awareness

Who was also known as the Mahatma'’s
(Mahatma Gandhi) southern warrior ?

(A) C. Rajagopalachari

(B) Subramanya Bharathi
(C) V. O. Chidambaram Pillai
(D) None of the above

Ranthambore National Park is located
in the State of

(A) West Bengal

(B) Madhya Pradesh
(C) Rajasthan

(D) None of the above

Which of the following Satellite
Launch Vehicle (SLV) is used to
launch the Chandrayaan-2 by ISRO ?

(A) GSLV Mk-1lI

(B) PSLV

(C) RLV-TD

(D) None of the above

Which of the following institution of
Government of India has been replaced
the Planning Commission ?

(A) NITI Aayog

(B) CPWD

(C) Interstate Council
(D) None of the above

Which of the following Government
organization publishes the Index of
Industrial Production (lIP) ?

(A) Central Statistical Organization
(CSO)

(B) Labour Bureau
(C) Office of the Economic Adviser
(D) None of the above

6.

10.

Which of the following gap is the most
prominent gap in the Western Ghat which
connects Tamil Nadu and Kerala ?

(A) Palghat gap
(B) Bhorghat gap
(C) Thalghat gap
(D) None of the above

What is the insecticide DDT stands for ?
(A) Dichlorodivenyltrichloromethane

(B) Dichlorodiphenyltrichloroethane

(C) Diaminodiphenyltrichloroethane

(D) None of the above

The first month of the Indian National
calendar is

(A) Kartika
(B) Chaitra
(C) Ashwin
(D) None of the above

Gandhi Jayanti is celebrated every
year on

(A) 30™ January

(B) 2™ March

(C) 2™ October

(D) None of the above

Where is the Headquarters of the United
Nations situated ?

(A) Geneva

(B) New York

(C) Johannesburg
)

(D) Tokyo
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12.

13.

14.

15.

Bhupen Hazarika has recently conferred
with Bharata Ratna award Posthumously.
Bhupen Hazarika was a

(A) Legendary Hockey player

(B) Legendary Singer

(C) Legendary Cricketer

(D) None of the above

What are the names of two Indian
research stations situated at
Antarctica to study and investigate the
polar processes and phenomenon ?

(A) Maitri and Bharati
(B) Boopathy and Himadri
(C) Rajatadri and Sahyadri
(D) None of the above

Which of the following space agency
has launched the Magnetospheric
Multiscale Mission ?

(A) NASA

8) ISRO

(C) European Space Agency

(D) None of the above

Which of the following bank recently
became the second largest state-owned
lender after merging Dena Bank and
Vijaya Bank into itself ?

(A) Bank of Maharashtra

(B) Bank of Baroda

(C) State Bank of India

(D) None of the above

The Experimental Geothermal Energy
Power Plant at Manikaran is in the
State of

(A) Himachal Pradesh

(B) Sikkim

(C) Arunachal Pradesh

(D) None of the above

16.

17

18.

19.

20.

Vitamin B2 is also called as
(A) Riboflavin

(B) Niacin

(C) Folic acid

(D) None of the above

Which of the following language given
below is the official language of the
Union of India ?

(A) Kannada

(B) Konkani

(C) Hindi

(D) None of the above

What is the full form of “BHIM” which is
mobile payment app developed by the
National Payment Corporation of India,
based on the unified payment interface ?

(A) Bharat Interface for Money

(B) Bharat Intermediate for Money
(C) Bharat Institution for Money
(D) None of the above

What is GDP stands for in terms of
economics ?

(A) Gross Domestic Product

(B) Gross Development Product
(C) Gross Dividend Product

(D) None of the above

Paramparagat Krishi Vikas Yojana aims
to promote the

(A) Cereal crops production in the
country

(B) Organic farming in the country
(C) Drip irrigation in the country
(D) None of the above
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13.

14.
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U TR 61 BT & B FON0a TRa

T YoM R TR | SO ST U
9 |

(A) g e Raanet

(D) 39§ U FE Tel

gt TiaTstt 3T afere & et 3R
St % T sfemsfos o e & awdia
ITTEUH LA & TH FT2 7

(A) Bt AR ATt

(B) et TR feweh

(C) TTaTsl 3TN Temsh

(D) 3 W H P Tl

Fraferfiaa & @ fra ofafte ot 3
HHIEHRE Hodiahd fHeM Y& R ® 7
(A) T

B) ¥ '

(C) Ffrm fafter wsieft

(D) I H Y HE T

WA T I e S & Ao awE
freafirfaa 7 @ FR-wdw e@ & ¥ @@
el ST TS & AT SRR I
ERUCGIE

(A) S IATH HERTES

(B) S JHTH SR

(C) 9RAF T d®

(D) o WA FE 7

TR B ST - Seeter Sl wrfee dam
AT HR ?

(A) Tmma geu

(B) Tarfars

(C) STROT=A U1

(D) I T | FE T

16.

17.

18.

19.

20.
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fafmBew dfiFed 2 |
(A) TgsTRifeA

(B) TEfEH

(C) hiforsh 3T

(D) 3 H HHE T

Frferfaa # & -t s sy wer
TSR 7

(A) &S

(B) Uit

(C) &

(D) 3 W @ HE T

ofi & faEid E TR, S i e
TTHY o SR T S & TS A e
3 TR Hiemee JTaH W R ?

(A) SR $THE I HHA

(B) W gewiiEivg B w+t

(C) T 3R B ot

(D) I H =K T
Freleaee & wrsal § St 2t s fore
IR ?

(A) et TR 3eIS

(B) Tt fashm 3cuTE -

(C) TFA AN 3cUTE

(D) 3 H A FE TEI

WRFTA Y o AT R AET
FT IR FATE |

(A) 3T I FHAT T I
(B) <1 H S FW

(C) = fgu fomw

(D) 3% HAHE Tl
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21.

22.

23.

24.

25.

26.

ii) General Intelligence and Reasoning Ability

Select the group of letters which are
different from others. .

(A) ADH (B) LOS
(C) GIM (D) PSW

Complete the series :
76 14 18 21 30 28 42 35 ?
(A) 47 (B) 54

(C) 42 (D) 59

In a certain language if ' REMOTE’
is coded as ‘REMETQ’, then how is
‘COPPER’ coded ?

(A) COPREP
(B) COPRPE
(C) CPOPRE
(D) COREPP

One morning Suraj and Aashish were
talking to each other face to face at

a crossing. If Aashish’s shadow was
exactly to the left of Suraj, which
direction Suraj facing ?

(A) East (B) West
(C) North (D) South

In a dictionary, which of the following
word will appear third ?

(A) Accept (B) Acceptance
(C) Acceptable (D) Acceptability

If + means —, — means x, x means =,
+ means +, then what will be the value
of 25-5+2+27x372

(A) 131
(B) 132
(C) 138
(D) None of these

e

28.

29.

30.

31.

Find the missing number :

27 | 8 6
64 | ? | 12
125 | 64 | 20

(A) 32
(B) 27
(C) 24
(D) 25

Complete the analogy :
Lion : Cub

(A) Dog : Calf

(B) Duck : Duckling
(C) Cat: Puppy

(D) Cow : Kitten

Select the pair in which the numbers are
similarly related as in the pair 2 : 32.

(A) 4:64
(B) 5:25
(C) 3:243
(D) 7:392

Select the number which is different
from the rest three.

(A) 8
(C) 64

(B) 27
(D) 49

Find the correct alternative for Aries,
Taurus, Gemini.

(A) Zodiac Signs
(B) Meteors
(C) Planets
(D) Asteroids
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i) ETTR FlgAwT aUT it Trgan

31ertl 61 98 O gRT ST oA i R |
(A) ADH (B) LOS

(C) GJM (D) PSW
AT QU1 3 :

7 6 14 18 21 30 28 42 35 ?

(A) 47 (B) 54

(C) 42 (D) 59

et a1 ¥ ‘REMOTE’ %1 ‘REMETO’
o ST ], 9 ‘COPPER' &1 3 forat

@ ¢

(A) COPREP
(B) COPRPE
(C) CPOPRE
(D) COREPP

T gele IS iR iy ws wiftm w
- A TA TR 9 | IR amefiw iy
BET Y % 3 918 off, T g 1 @
fra e o ?

(A) (B) dfe=m

(C) W (D) =f&mr

T I6GH Y H hiH-HT Y162 A5 Fa T
@ ¢

(A) Accept (B) Acceptance

(C) Acceptable (D) Acceptability

qﬁ+ﬂm—%,—maﬁx%,xﬂﬂﬂ?§
+ 8, +HTM +8, A25-5+2+27 x3
FHIHA TR ?

(A) 131

(B) 132

(C) 133

(D) T AHE T

27.

28.

29

30.

31.

S AT 1
27 | 8 | 6
64 | 2 | 12
125 | 64 | 20

(A) 32
(B) 27
(C) 24
(D) 25

R : e a=a

(A) Tl : TS

(B) S : SITE T STl
(C) Toreedt : fueem

(D) T : foeett &1 5=

I8 ZH HT forad T 3Hi YRR He e
B, PR gm2: 328 ¢ |

(A) 4:64

(B) 5:25

(C) 3:243

(D) 7:392

REETRTN IR dH A =R |
(A 8 (B) 27
(C) 64 (D) 49

7Y, g9, fiyF 29 Tt fReer g |
(A) T o

(B) 3ot

(C) &=

(D) HRTE
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32.

33.

34.

35.

Find the missing letters that will complete
the series :

a_a_b__baa_aa__
(A) baaabba
(B) bababab
(C) baabaab
(D) aaaabbb

Pointing to a man, a woman said, “His
mother is the only daughter of my
mother”. How is the woman related to
the man ?

(A) Sister

(B) Mother

(C) Grand Mother
(D) Aunt

A father and his son decide to sum
their age. The sum is equal to sixty
years. Six years ago, the age of the
father was five times the age of the
son. Six years from now, the son’s

age will be

(A) 23 years
(B) 19 years
(C) 20 years
(D) 22 years

The sum of two integers is 10 and the

5
sum of their reciprocals is 12 Then the

larger of these integers is
(A) 4
(B) 6
(C) 8
(D) 2

36.

37.

38.

40.

Find the missing letter :

E|K]A

iz e

LI R|H
(A) E (B) N
€ P (D) T

Tokyo is to Japan as ‘?’ is to Australia
(A) Sydney (B) Melbourne
(C) Canberra (D) Brussels

Select the word which is least like other
words in the group.

(A) Dermatology
(B) Urology

(C) Geology
(D) Pediatrics

Algebra, Mathematics, Sociology can
be represented by

(A) @ O
o (O

Jolele

A group of 1200 persons consisting of
captains and soldiers is travelling in a
train. Forevery 15 soldiers, there is one
captain. The number of captains in the
group is
(A) 80

(C) 70

(B) 75
(D) 85
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32.

33.

35.

T & JTA R ST FEAT B R |
ga.a-b_.baa aa

(A) baaabba

(B) bababab

(C) baabaab

(D) aaaabbb

T e 1 ST T T gL 3
et T3 “saeht mrar B WA Y el
TR | I' wfieen 3o safda @ fra yew
Hafa e ?

(A) ==&

(B) Tl

(C) =wl

(D) =T=h

F v | 3 60 99 STaT? | ®: Ay
ud foan &t a1y g3 <t o7 = o= o ot |
S U B: T8 918 [F Al G BT

(A) 2398

(B) 19aY

(C) 2099

(D) 2298

31 quIteR 1 AT 10 8 37 37 Fhul 1
5 :

AR 15 B R

(A) 4

(B) 6

(C) 8
(D) 2

36.

37.

38.

39.

40.

MKG-XXIV/TECHSW/1T/08

o STER T
E|lK|A
T.0 Z.| 7
L|R|H
(A) E (B) N
C) P D) T
A, SE ¥ 3H YR getud 8, o
BEy L AR a TEka ? |
(A) T (B) TeteH
(C) Fs (D) sHH
T2 V158 gHT ST TE | 31 Ieal § gad
w9 e |
(A) == fasm
. (B) 43 g
(C) i fom
(D) STt figm
o, o, g LY
U AT TR & |
»(©Q O
(OO0

T ¢ § 1200 ST o1 Toh TR I
wTR, foad ¥t MR BFE R | T
15 e & fu vk Fea 2 | T |
Feai o g R
(A) 80

(C) 70

(B) 75
(D) 85



MKG-XXIV/TECHSW/1T/08

41.

42.

43.

45.

46.

-10-

iii) Arithmetical and Numerical Ability

If3*=5=15% thenxy—-yz-zx =
(A) =3 (B) -1
(C) O (D) 1

A number consists of 2 digits and whose
sumis 3. If 9 is added to the number, the
digits get interchanged. The number is

(A) 80
(B) 21
(C) 12
(D) None of these

Mr. Bean deposits Rs. 10,000 at 8%
simple interest for 5 years. The amount
he receives at the end of 5 years is

(A) Rs. 18,000 (B) Rs. 12,000
(C) Rs. 14,000 (D) None of these

If the perimeter and area of a circle are
equal, then radius of the circle is

(A) 1 unit
(C) 2 units

(B) %unit
(D) 4 units

2 o
Value of 1+ cot” 45° is

1+tan?45°
(A) sin 90° (B) cos 90°
(C) sin45° (D) cos?45°

The 20" term from the last term (end)
ofthe AP.:3, 8,13, ...,253is

(A) 158
(B) 153
(C) 108
(D) None of these

47.

48.

49.

50.

A train travels 360 km at a uniform
speed. If the speed had been 5 km/hr
more, it would have taken 1 hour less
for the same journey. The speed of
the train is

(A) 50 km/hr

(B) 40 km/hr

(C) 45 km/hr

(D) 80 km/hr

The general solution of the differential

equation W e s
dx

e'+e'=c
e*+e'=cC
e*+ev=cC
e +e¥=c

If 10 notebooks are purchased at the rate
of Rs. 7 per notebook and 15 notebooks
at the rate of Rs. 12 per notebook. The
average price of notebooks is

(A) Rs.19
(B) Rs.9.5
(C) Rs. 10
(D) None of these

.
17 B

jx cos x dx =

-1

A) 171
B) 2=
) 0

17n

©
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i) TR TS WEATHS TRl

aﬁ3“=5y=152'§,?ﬁxy—yz—zx=
(A) -3 (B) -1
(C) 0 (D) 1

U G 31 3 A o 8 3 IFET M
3% | Afe 3w g H 9 WIe fear S, 4t 3%
AT H TeA W & | I8 T8

(A) 30

(B) 21

(C) 12

(D) T8 A &R el

ot s 5 99 % ToTu 8% & T ST W
%. 10,000 THT A 2 | 591 & 3 H 3=
T i R

(A) . 18,000
(C) %. 14,000

(B) % 12,000
(D) T ¥ HE T

J1< T g ol TR TR &FHA SR ©, a1
EREIRESE I

(A) 137 ®)

(C) 23wwaAl (D) 4 3FHEAT
2 ()

1+cot245 EFNTFI%

1+ tan“ 45°

(A) sin 90° (B) cos 90°

(C) sin 45° (D) cos®45°

THTR 997t 3, 8, 13, ..., 253 F IfaH IS W
20T

(A) 158
(B) 153
(C) 103
(D) T HHE &I

47.

48.

49.

50.

Tk (TSl U THH i 360 ot & =erdt
? | afefa 5 foreft /oren srferes Bl ar 3eht
I & U 1 =2 0 T | e i
fd 2

(A) 50 Tt ferar

(B) 40 Tt /e

(C) 45 fft /=

(D) 80 Tt /e

s gw Y - o wramE
3?“[% dx

(A) e+e'=cC

(B) e*+e'=c

(C) e*+e¥=cC

(D) ex+e¥=c

e 10 s Ui e 7 % I AT
SITE 37K 15 TS 12 %, WA A2 HI R
B Gl ST, A1 e F 3 I B
(A) %19

(B) %95

(C) & 10

(D) 38 I FE T

1
_[ x'" cos’x dx =
-1
A) 17
B) 2=
(C) 0

AT
==
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51.

52.

83.

54.

55.

If o and B are the roots of the equation
22 —=7x+3=0,then o? + f2 =

(A) 37

37
(B) N
(C) 0

(D) None of these
(x—3)e"
[

A —e
(:1)2+c - ®

dx =

(A)

X x

e
D sl
(o (D) (x—1)3+c

(x-1)

(€)

If a leap year is selected at random,

then the probability that it will contain 53
Thursdays is

2
A B) =
(A) ®)

(C) (D) None of these

~N(Ww N =

From the top of a light house, 120
feet above the sea level, the angle
of depression of a boat is 60°. The
distance between the light house and
the boat is

(A) 60 feet
(B) 4043 feet

©) 2 feet

V3

(D) None of these

The sum of first 8 multiples of 8 is
(A) 200 (B) 248
(C) 288 (D) 302

57.

58.

59.

60.

Y10 0 0 O 0 00

nmm:%mm:émmpmmm,

given A and B are independent events
of a random experiment is
1 3
A = —a
A - B 2
17 1

© (D) sg

25

A and B can complete a work in 12 days,
B and C can complete the same work
in 18 days and C and A do the same
work in 14 days. The number of days
required to complete the same work, if

A, B and C work together is
(A) 10 days
504
(B) 53 days
360
? days

None of these

(C)
(D)
The integrating factor of the differential
equation (x+ y)d—y =149

dx
(A) ¢ (B) e
(C) -y (D) e~
The area of a triangle formed by the
points A[——g—, 3], B(6, —2) and
C(-3,4)is
(A) 10 sq. units
(C) 15 sq. units

(B) 0 sq. units
(D) None of these

If tanA = g 0 < A< 90° then sec?A =
16 25

A 5 B) Tg

(C) %5- (D) None of these
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51.

52.

53.

55.
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aﬁaaﬁtﬁwﬂmzﬁ—ms:o%ﬂ@
3, o2+ B2 =

37
(A) S

® 7

(C) 0
(D) T8 A HE

fe weh ofta o & g w9 @ g
STTT &, 1 S5kt T WTfera & T o

53 &R & 7
1 2
A 3 (B) =
(C) g (D) T A HE 7
3 qA ¥ 120 FI S0 UF ABS T3E &
i & U A1 T SFETEA R0 60° R | AR
E3H 3 19 FH T 0
(A) 60 FE
(B) 4043 Hiz
40
©) _\Etﬁz
(D) T AFE T
8 % W 8 VIS & A B
(A) 200 (B) 248
(C) 288 (D) 302

56.

97.

58.

59.

60.
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afd P(A) = g P(B) - %,a‘r P(AB)

SEl A9 B U Igfese WA 1 @ad
TS E
- -
A ¢ B) 5
17
©) 5 Bz
A 3 B U &1 &1 12 f&1 H ot o Hea

2, B3l C 3T 18 fATH gur C 3ix
AsHdiFER F 14 AT asma s | aRA,
B 3 C 1 et &+ & 2, o fremt

i & e wd g e 2 7
(A) 10f& (B) @fﬁq
53
© 5 (D) = A

] GH AT (x+y)9!=1mzmw
TR © %
(A) ¢
C) -y

(B) e
(D) e*

foig A[—%,S), B(6, —2) 37X C(~3, 4) g
W“‘Qﬁ‘ﬂﬁlwm%

(A) 10 swEat (B) OFiswE

(C) 15 s%EAT (D) T AFE F

4
gfe tanA:E, 0< A<90°%, Al sec?A =

™ ® 2
© 2 (0) BT T
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61.

62.

63.

64.
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iv) Hindi Language and Comprehension

mmwmﬁwﬂmm

(A) SEd THE HAT
(B) STH-S[ohT G ]
(C) & | o
(D) 379t &Y AT A el

TE e g |

(A) T8 Hd B |
(B) T I 7d IS |
(C) T3 5 7T |
(D) T¥® 7a I |

Tl 1 A TEH I FATR 7
(A) Torem
(B) HE
(C) @t
(D) g T

el e Hiv |
A, T
. 3fd
3. |
|

AN
(A) @
(B) @
(C) @
(D) &

F. 9=
g, AFE
T. 9%
¥, 3T

4 4 g o g
q4 4 o g w
o 9 o4 o b

7=y sir Ay
65. “ESTMT o3 i TEITEF TIT
(A) TS (B) TE
(C) @ (D) HSRE
66. a1 =1 &7 foFush IHR ewar e ?
(A) =4 (B) fem
(C) T& (D) A
67. Wl Yee H1 SEAT SR |
(A) gfeat
(B) gfean
(C) gfed
(D) & &
68. @I iauETF gee | mawa
W 2
(A) 3 (B) &
(C) dEH (D)
69. ‘Y=um HER-T=Re
(A) YT + 375
(B) g + %
(C) I + =5
(D) W + =R
70. ‘gar srera Rmww
(A) ga
(B) F
(C) &
(D) ¥ e
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73.

74.
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fra s 4 ‘=1’ wiee w1 YA fasmor
% EIH gIATR ¢

(A) o 7SS Tohan ST AT |

(B) ¥ T WA IFBIL |

(C) 3T=31, TH = T |

(D) T9H ¥ =IE T

T A areft 3gE Wl R | T g R
FAAR 7

(A) Y SR e

(B) 3E= Hd 1A

(C) T JIaq™ e

(D) =¥ el

et foem Fifsm |
3. TR

A T &
B) @ T
€ @ ¥
O)F @ T ¥

‘T3 v1eg R YET 1 AT R ?
(A) 3TH &

(B) WeTH &N

(C) ¥ &

(D) % e

75,

76.

7.

78.

79.

80.
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JAAH HTd & fohaa 92 8 ?
(A) 2 (B) 4
(C) 3 (D) 5
3eTT fhd TR F B E 7
(A) 3 (B) 4
(€) 5 (D) 2
IS s < forfa 2

(A) 3T

(B) I\

(C) TmA

(D) st

IR EEIdE avier ol | 7% fo weRR
HIEIR 7

(A) T T

(B) T I

(C) s awma

(D) HTHWO I

‘FeR-ufEr’ I &1 ot 3 2
(A) ST~ ST

(B) THAT-T&T AT

(C) WRAT-SAFT

(D) Iedre-wfamn

‘ST A T TSI Er | I |
FH-HTFTF @ 7

(A) FH FH

(B) 3Tt i

(C) U FH

(D) dl HH
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81.

82.

83.
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v) English Language and Comprehension

I T SR Ay

Fillin the blanks in the following sentences with
the appropriate prepositions from among the
choices given below them.

| sat the fire.
(A)
(B)
(©)

(D)

beside
besides
across
among

What can | do
(A) by

(B) between
(C) from
(D) for

you ?

She read about it the
newspaper.
(A) at

(C) in

(B) on
(D) across

Fill'in the blanks with the appropriate forms of
the verbs given in brackets.

84.

85.

-16-

Each one of them
prize yesterday. (form of ‘be’)

(A) is

(B) are
(C) were
(D) was

given a

| am a person who
a spade a spade. (believe)

(A) believe
(B) had believed
(C) believes
(D) have believe

in calling

Select the word that is opposite in meaning
(antonym) to the word given in the question.

86.

87.

Synthesis

(A) Arrangement
(B) Analysis
(C) Organisation
(D) Combination

Antique

(A) Junky
(B) Stylish
(C) Costly
(D) Modern

Fill in the blanks in the following sentences
using the appropriate articles from among-
the choices given below them.

88.

89.

90.

The lady is

(A) a

(B) an

(C) of

(D) none of these

LIC Agent.

Antony called Cleopatra the serpent of
Nile.

(A) a

(B) an

(C) the

(D) no article required

Robinson is

(A) a

(B) an

(C) the

(D) no article required

European.
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Fill up each blank with a suitable adjective
from among the choices given below each
sentence.

91. The two boys hit
(A) each other
(B) one another
(C) any
(D) none of these

92. He spent only money on
himself.

(A) few
(B) a little
(C) many
(D) any

Three of the four words given below are
spelt wrongly. Select the word that is spelt
correctly.

93. (A) Acquintence
(B) Acquaintence
(C) Acquaintance
(D) Acquintance

94. (A) Neglegense
(B) Negligence
(C) Negligance
(D) Neglingense

Select from among the choices, the word that
is similar (synonymous) in meaning to the
question word.

95. Orthodox
(A) Heterodox
(B) Traditional
(C) Creative
(D) Ugly

37

96.

MKG-XXIV/TECHSW/1T/08

Saintly

(A) Unholy

(B) Profane

(C) Argumentative
(D) Heavenly

Add suitable question tags to the following
statements from among the choices given
below them.

97.

98.

We aren’t immortal, ?
(A) aren't we

(B) were we

(C) isn'tit

(D) arewe

Mahima hankers after a life of leisure,
2

(A) does she
(B) doesn’t she
(C) isshe

(D) was she

Pick out the most effective word from the given
words to fill in the blank to make the sentence
meaningfully complete.

99,

100.

Your business won't make profits
you advertise more.

(A) unless
(B) and
(C) but
(D) should

lam so busy that | have time
to study.

(A) nearly
(B) almost
(C) hardly
(D) simply
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101.

102.

103.

104.

SECTION - B

Post Specific Subject — Related Questions

The disease due to infectious agent
or its toxic products capable of being
transmitted from man to man is called

(A) Communicable disease

(B) Non communicable disease
(C) Non transmissible disease
(D) None of the above

An infection originating in a patient while
in hospital is called as

(A) Epornithic
(B) Epizootic
(C) Nosocomial
(D) Opnortunistic

The constant presence of a disease
within a given geographic area is
termed as

(A) Endemic
(B) Epidemic
(C) Pandemic
(D) Outbreak

In the epidemiological triad of
tuberculosis, mycobacterium
tuberculosis falls under which of
the following ?

(A) Agent
(B) Host
(C) Environment
(D) Time

105.

106.

107.

108.

109.

Which of the following is an infectious
disease ?

(A) Chickenpox

(B) Cancer

(C) Diabetes Mellitus
(D) Hypertension

Which of the following is not a symptom
of measles ?

(A) Fever
(B) Coryza
(C) Cough
(D) Hyperlipidemia

The following is the mode of transmission
of Mumps

(A) Contact with soil
(B) Blood bome infection
(C) Droplet infection
(D) Vector borne infection

Which of the following is a causative
agent for Diphtheria ?

(A) M. Tuberculosis
(B) Enterovirus C
(C) C. Diphtheriae
(D) Clostridium tetani

In the epidemiological determinants of
Influenza, which of the following
falls under environmental factors ? :

(A) Age

(B) Season

(C) Gender

(D) Influenza Virus
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101.

102.

103.

104.
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qT-F
Uree Tatferres e —aaet uw

AT SRR AT3HS ¥ Scae &
FHROTSATHT S T N T ia eH & HEm e,
IAFFAOMETA W e
(A) Tt T

(B) Tr-w3wofia Tm

(C) Tr—g=rotrr To

(D) 3FHAFE T

JTETATEA H Tl G T TP H 39 Ueh Hhh Tl
FEATAT 2 |

(A) T

(B) ufus{fesn

(C) TEwRIIA

(D) ETEmE!

T YMiforeh &3 5 e T &t i 3ufefd,
FEAT 2 |

(A) TS

(B) WEMHI

(C) weeaTdt

(D) JM

s <l HemH B ¥ areefaiem
pragatm, freafafe 3 @ e
AR 7

(A) TEH

(B) TSIEIH

(C) Ty

(D) @Ha

105.

106.

107.

108.

109.
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Fraferfaa 1 @ #9-a1 v aFnoRiia
R 7

(A) <=F

(B)

(C) sHfrdis uferem

(D) I== EaETd

Ffarfaa § 9 FH-arEa & aa
TR ?

(A) g@r

(B) Al

(C) @

(D)

Frferfaa # 8 SH-a1 53T & TEoT
TFER 2 7

(A) JaTH HF

(B) TSI HghHOT

(C) S@EFAT

(D) TTET T HFA

fefafaa 8 FF-ar feeifar =
FRFE 7

(A) . SEEIIGE -

(B) SERRE Hi.

(C) . fexftfim

(D) FAEfEn ol

TR % Fufet # frafofaa 3
Y HH-T1 TGiT HRH S A
AR 7

(A) 31

(B) HEw

(C) fem

(D) FFRIUAST feremy)
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110.

111.

112.

113.

114,
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Which of the following is a primary air
pollutant ?

(A) Carbon monoxide (CO)
(B) Ground level ozone
(C) Photochemical smog
(D) None of the above

The following is the ideal clinical
specimen for diagnosing pulmonary TB

(A) Blood
(B) Sputum
(C) Urine
(D) Tissue

Which one of the following is a modifiable
risk factor for hypertension ?

(A) Age

(B) Genetic

(C) Ethnicity

(D) Saltintake

Which one of the following is a
non-pharmacotherapeutic intervention
for hypertension ?

(A) Aspirin

(B) Beta blockers
(C) Nutrition

(D) None of the above

Which of the following is a non-insulin
dependent diabetes mellitus ?

(A) Type-1 diabetes mellitus

(B) Malnutrition related diabetes
mellitus

Type-2 diabetes mellitus
Gestational diabetes mellitus

(©)
(D)

115

116.

117.

118.

119.

AP0 0 0 V0 0

“A disease caused due to abnormal
growth of the cells and has ability
to invade adjacent tissues including
distant organs” is

(A) Hypertension
(B) Pneumonia
(C) Cancer
(D) Measles

Which one of the following is not a
cause for cancer ?

(A) Alcohol
(B) Dietary fibre
(C) Tobacco
(D) Dengue

“Occurrence in a sequence of events
which usually produces unintended
Injury, death or property damage” is
termed as
(A) BMI

(C) Accident

(B) Morbidity
(D) Mortality

Which of the following is not a
measure to reduce the risk from
road traffic accident ?

(A) Wearing motorcycle helmets
(B) Child restraints

(C) Seat belt

(D) .Drink-driving

Which one of the following is a mode of
transmission of HIV/AIDS ?

(A) Sexual
(B) Mosquitoes
(C) Flies

(D) Rodents
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110.

11.

112.

113.

114.
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fraforfiea # & Sn-ur v wefiE g
TR T ?

(A) FTE THRIEES (CO)

(B) ©TTae TR ANH

(C) TehIST TET e T

(D) 39a T A FE Al

PRI &R 1 94T TRTH & o1g
Frafafea smesd fafrada T2
(A) &
(B) ¥F

©€) =
(D) Fde

Freforfaa # @ F-T1 3= waaEm S fog
TREdR I SR R & 2

(A) 3TY

(B) IR

(C) St

(D) & T

fafofaa # @ = 9-o1 vs 3= W
2 T-fwefig 3= 2 2

(A) T

(B) dfter soierd

(C)

(D) 3% H Y PR Tl

Frforiea # & R-ar -3gfem
s safafen aferea 2 7

(A) TET-1 SEffeR wieten

(B) FUM Y Heiferg grIferfen Aicted
(C) 2EU-2 SHfefed Afcren

(D) SyH sWEfefem nferem

115.

116.

117.

118.

119.
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“ U TP ST HITEHTSAT il ST (4
% T BT © 3R 0 31 Hied der™
Feh] W+t TBEHOT R AT T 2 |
(A) F= TEET

(B) =i

(C) F

(D) @au

Fraferfaa § & R -an Fe & v FRo
w22

(A) IR

(B) IREEEN

(C) T

D) <

ST % U HH HIEHT A T
Fifesd T, §eg I QI TRI FA R
FEAT 2 |

(A) fmmaE, () FmE

(C) TEe (D) T

Freforfiga & @ -a1deH A gHe
B TIREH FH T 61 TF 7T 781 @ 2

(A) TIX HERRE Tee T

(B) = ftwer

(C) Hizdawe

(D) YR i SAHT

Freferfaa § A -4 HIV/AIDS & %ed
FITFH TFA R ?

(A) Wi Fay

(B) w=KX

(C) wfFgan

(D) Fd*
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120.

121.

122.

123.

124,
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Which of the following is not a sexually
transmitted disease ?

(A) Measles
(B) Syphilis
(C) Gonorrhoea
(D) Donovanosis

Identify the auditory aids from the
following.

(A) Tape recorder
(B) Charts

(C) Posters

(D) Chalk-board

Which of the following include visual
form of health education ?

(A) Posters

(B) Tape recorder
(C) Radio

(D) Earphones

The Chinese proverb “ If | hear | forget:
If 1 see, | remember; if | do, | know”
illustrates which of the principles of
health education ?

(A) Reinforcement
(B) Interest

(C) Setting an example
(D) Learning by doing

Which of the following is a combined
audio-visual aid ?

(A) Television

(B) Radio

(C) Earphones

(D) Leaflets

125.

126.

127

128.

129.

130.

Which of the following is a
micronutrient ?

(A) Proteins

(B) Fats

(C) Carbohydrates
(D) Vitamins

The fatty acids which cannot be
synthesized by humans are called as

(A) Essential fatty acids

(B) Essential amino acids

(C) Non essential fatty acids
(D) Non essential amino acids

Inability to see in dim light is called as
(A) Night blindness

(B) Cancer

(C) Obesity

(D) Beriberi

Which of the following deficiency
leads to Rickets ?

(A) Vitamin B (B) Vitamin C
(C) Vitamin D (D) Vitamin A
Sources of calcium include

(A) Milk

(B) Curd

(C) Cheese

(D) All of the above

Deficiency of Iron leads to
(A) Anaemia

(B) Bitot's spot

(C) Scurvy

(D) Congenital Xerosis
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Froaffeatasn-ares I yifie gy
R T Yt 2

(A) @&

(B) Tafhferg

(C) T

(D) SHEAIRE

Frafrfas 9 8 9o g ve=Ti)
(A) 29 frisx

(B) 9%

(C) TRX

(D) -1

frafofea 4 @ $9-0 mre fen s o
w9 T 2 2

(A) IRX

(B) 29 faier

(C) s

(D) FATHH

= FeEd AR grarg A1 E @ S
ARH SEATE, A@ AT E; A A g ar
A g e Rian & A i
aTR ?

(A) TR

(B) &

(C) T 3R SHHT

(D) & HigT

Frefcriad 5 & S W -91 v 557 {9-54
HEEE arfi 2 2

(A) afasm

(B) e

(C) TEH

(D) T

125.

126.

127.

128.

129.

130.
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Frefcriad # 8 #H-a1 v gerdE 2 2
(A) &

(B) ad1

(C) FEEEY

(D) faarftm

3 91 30T S HHE S BTN e R
T HFA

(A) AT THT 3T

(B) 3TETIS IHAT A=A

(C) M-IavasF 94T 37

(D) R-Tavas ufiar o

nfen T § 9 3|
FRATI =

(A) T

(B) &

(C) W

(D) et
Fraferfea @ @ frah =it @ fsrem
BIATR ?

(A) frafi= B (B) FrafimC
©) fafmp (D) FafmA

FHiAm & ST ¥ e 2
(A)

(B) =&

(C) wR

(D) IFH T ah

AR H A THTR |
(A) ¥t

(B) T3EiE T Hsall

(C) Wi

(D) S=Ta Sfe
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131.

132.

133.

134.

135.

“The care of women during
pregnancy” is termed as

(A) Antenatal care ‘
(B) Postnatal care
(C) Intranatal care
(D) None of the above

The purpose of the maternal and child
health includes

(A) Reduction in maternal mortality
(B) Reduction in infant mortality
(C) Reduction in perinatal mortality
(D) All of the above

Care of the mother after delivery is
known as

(A) Postnatal care
(B) Intranatal care
(C) Antenatal care
(D) Prenatal care

According to International Agreement
“A birth weight less than 2.5 Kg” is
termed as

(A) Normal birth weight
(B) Overweight

(C) Low birth weight
(D) Preterm babies

Babies bom from 37 completed weeks
to less than 42 weeks are called as

(A) Term

(B) Post-term

(C) Preterm

(D) Low birth weight

136.

137.

138.

139.

140.

“Currently married couple wherein
the wife is in the reproductive age
between the age of 15 to 45 years”
is called

(A) Married couple
(B) Eligible couple
(C) Target couple
(D) None of the above

Which of the following contraceptive
method is used for spacing ?

(A) Condom

(B) Vasectomy

(C) Tubectomy

(D) Female sterilization

Which of the following is an indicator
of the prevalence of contraceptive
practice ?

(A) Male sierilization rate
(B) Maternal mortality rate
(C) Target couple

(D) Couple protection rate

Which of the following is not a
intrauterine device ?

(A) NovaT

(B) Multiload 375
(C) Lippes Loop
(D) Diaphragm

How many ferrous fumarates tablets
are present in a packet of Mala-D ?

(A) 6
(B) 7
) 8
(D) 9
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“mriere % S wRen i cae’
FEAT ¢ |

(A) ST F@T

(B) JHEETE S@ITA

(C) IIaUvHE @A

(D) 3% H T HE TE

g 3R 7] e & Segd H
M € |

(A) g Geget i

(B) oy g w et

(C) Ta=ITd e § et

(D) 3 U g Tt

YOG TTETG HId1 S @
FEATIE |

(A) THE WEW @I
(B) SIS @A
(C) STHE @I

(D) TEEE @A

““ TSR R o STER 2.5 fham. |
FHTH T FEAEE |
(A) TWFI S 91

(B) 3Afem

() Fasam

(D) &wa T Ry

37 ¥ 42 TR H 5 fRrgg 0
FEd T |

(A) €83

(B) THF W™

(C) TwaH

(D) T =7 9w

136.

137.

138.

139.

140.
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‘T € ¥ faenfed e o ot i
I A 158 45 A,
FEA 2 |

(C) qI T
(D) IFH Y BE TRl

fraferiaa o @ @R-d mifites ot
AU B TIFd eIl © 7

(A) Fem

(B) FETEEE

(C) wieer Fqeid!

(D) HTGT SEATH

Freforfaa ¥ @ FR-w ity % v=em
FHIUH T @ 7

(A) TE SEATER0T &

(B) FgHI X

(C) @& FTA

(D) I GaT <X

fraforiaa # @ FH-H v tar TR
g i ?

(A) FETd

(B) TedAE 375

(C) forda ey

(D) SRIBH

HIAT-S1 & T Uehe | fohc1 T TR
e IUE el & 2

(A) 6

B) 7

(C) 8

(D) 9
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Post-coital contraception is
recommended within how many hours
of unprotected intercourse ?

(A) within 72 hours (B) after 72 hours
(C) within 74 hours (D) after 74 hours

“The number of failure per 100 woman-
years of exposure” is called as

(A) House index
(B) Container index
(C) Pearl index
(D) Breteau index

“The number of live births per 1000
estimated mid-year population in a
given year” is referred as

(A) Couple protection rate
(B) Morbidity rate

(C) Birth rate

(D) Incident rate

“Number of live births in a year to 1000
married women in any specified age
group” is called as

(A) Age specific marital fertility rate
(B) Child — woman ratio

(C) Age specific mortality rate

(D) Total fertility rate

“Number of live births per 1000 women
in the reproductive age group in a given
year” is called as

(A) Birth rate

(B) Marital fertility rate
(C) General ferttility rate
(D) Pregnancy rate

146.

147.

148.

149.

150.

“The addition of any substance that
makes the environment impure” is
called as

(A) Pollutants
(B) Additives
(C) Adulteration
(D) Pollution

The time limit for registering the event
of births is

(A) 7 Days
(B) 14 Days
(C) 21 Days
(D) 28 Days

The time limit for registering the event
of death is

(A) 7 Days
(C) 21 Days

(B) 14 Days
(D) 28 Days

“Collection of information, its use and
its transmission to other levels of the
health system by non-professional
health workers” is called as

(A) Late reporting

(B) Under reporting

(C) Lay reporting

(D) Non-health professional reporting

“The mixing, substitution, concealing
the quality, putting up decomposed
foods for sale, misbranding or giving
false labels and addition of toxicants”
is called as

(A) Adulteration of food

(B) Fortification of food

(C) Additives of food

(D) Food standards
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Which of the following is caused by air
pollution ?

(A) Eye infections
(B) Gastroenteritis
(C) Typhoid

(D) Diarrhoea

Which of the following is caused by
water pollution ?

(A) Eye infections

(B) Hearing impairments
(C) Respiratory tract allergies
(D) Cholera

“Potential life saving technique which
is given initially for any injury until
professional medical treatment can
be given to the victim” is called as

(A) First aid

(B) Prophylaxis

(C) Therapy

(D) None of the above

First aid box includes which of the
following ?

(A) Gauze

(B) Thermometer
(C) Antiseptic lotion
(D) All of the above

The substances which cause pollution
are called as

(A) Pollutants
(B) Additives
(C) Pollutions
(D) Fortification

156.

157.

158.

159.

160.

Which of the following causes noise
pollution ?

(A) Automobiles
(B) Machines

(C) Loud speakers
(D) All of the above

The gap of time between the entry of
germs into our body and the appearance
of symptoms of the disease is called as

(A) Incubation period

(B) Pathogenesis period
(C) Prodromal period

(D) Convalescence periods

Which of the following is not a mode of
transmission of HIV/AIDS ?

(A) Kissing on the cheeks
(B) Blood transfusion

(C) Sexual contact

(D) Use of infected needles

“Circulate fresh air and driving out foul
air in order to freshen up the interiors
of a house” is called as

(A) Ventilation

(B) Site

(C) Lighting

(D) All of the above

Which of the following insufficiency
leads to Kwashiorkor ?

(A) Carbohydrate (B) Fats
(C) Protein (D) Lipids
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162.

163.

164.

165.

The Sl unit for length is
(A) Centimeter

(B) Kilometer

(C) Meter

(D) Miles

“The Science which aims to understand
all aspects of society as well as finding
solutions to deal with social problems”
is called as

(A) Information Science
(B) Home Science
(C) Social Science
(D) Biological Science

“The study of ancient times with aspect
to society and culture” is called as

(A) Archasology
(B) Political Science
(C) Geography
(D) Economics

Which of the following is a earliest stage
in human development ?

(A) Hunting stage (B) Town life
(C) Village life (D) City life

“Widowed women were compelled to
burn themselves on the funeral pyre of
their husbands” is called as

(A) Sati pratha
(B) Polygamy
(C) Group marriage
(D) Monogamy

166.

167.

168.

169.

170.

171,

“The diseases occur when a particular
nutrient is absent from our food for a
long period of time” is called as

(A) Deficiency disease
(B) Obesity

(C) Hypertension

(D) Cancer

Which of the following deficiency
leads to Marasmus ?

(A) Only Carbohydrates

(B) Carbohydrates and fat

(C) Only Fat

(D) Carbohydrates and Proteins

Absence of iodine in diet results in
(A) Goitre

(B) Hypertension

(C) Anaemia

(D) Diabetes Mellitus

Excess intake of fat may lead to
(A) Obesity (B) Marasmus
(C) Anaemia (D) Kwashiorkor

Which of the following are fat soluble
vitamins ?

(A) Vitamins A, D, E, K

(B) Vitamins Band C

(C) Vitamins A, D, E,C

(D) Vitamins B, D, E, C

Air pollution can be controlled by
(A) Biogas as fuel

(B) CNG venhicles

(C) Solar cooker

(D) All of the above
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Water pollution is caused due to
(A) Industrial waste

(B) Forest fires

(C) Gas emissions from volcanoes
(D) Loud speakers

Soil pollution can be controlled by

following method/s
(A) Recycling (B) Incineration

(C) Composting (D) All of the above

Coal burning chullahs when used for
cooking can cause

(A) Respiratory disease
(B) Lung impairments
(C) Both (A) and (B)
(D) None of the above

Which of the following is caused by
noise pollution ?

(A) Strained nerves

(B) Damaged ear-drums
(C) Headache

(D) All of the above

“Diseases that do not spread from one
person to another and develop in a
person due to faulty eating and living
habits” is called

(A) Communicable diseases
(B) Infectious diseases

(C) Life style diseases

(D) Contagious diseases

177.

178.

179.

180.

181.

HIV is caused by
(A) Bacteria
(B) Fungus

(C) Virus

(D) Parasites

Coming in contact with communicable
diseases can be prevented by adopting
which of the following ?

(A) Drinking boiled water and milk

(B) Washing hands before handling
food

Keeping the place well ventilated
All of the above

(©)
(D)

What are the points one should consider
when constructing a house ?

(A) It should not be close to heavy
traffic areas

Avoid low-lying areas

The soil should be firm till 2-5
meters/ feet below the surface

All of the above

(B)
(©)

(D)
What are the common accidents at
Home ?

(A) Falls

(B) Poisoning

(C) Burns and Scalds

(D) All of the above

Which of the following is not an artificial
ventilation ?

(A) Wind

(B) Air-conditioning
(C) Exhaust ventilation
(D) Balanced ventilation



172.

173.

174.

175.

176.

-33-

S Tg % IO Bl 2
(A) Trenfie e
(B) FETA

(C) SITHRIAT § 4 IeasiA
(D) &3S T

a1y Fefariad fafeat s Fafa
s EEaT? |
(A) TR

(C) @rReAHT

(B) @&
(D) 3% H T ot

FRIEAT ST AT s T W TR % g
T e, A W ESd Bl
(A) ¥ T

(B) WEHSIH ST

(C) *(A) 3T (B) &H1

(D) 3 H UK T

e ft wgyo & Feforfiaa § & w2 ?
(A) TEERT Y fawm

(B) & ferred %M &1 98

(C) Ter=g

(D) IF T A T+ft

T iU AR B R AR ST 3T
a4 Taa @H NS 3medi s FRoT
foFR@ g’ ESIGR

(A) GOl T

(B) GO T

(C) Sfta Seft T

(D) TFHHSF T

177.

178.

179.

180.

181.

MKG-XXIV/TECHSW/1T/08

HIV T AT 2|
(A) Sty
(B) FaF

(©) fammy
(D) PrEici

oty T 3 ek # 31T Freferfaa =
TR TehT ST TFaT® |

(A) Isrer ot 3R 3y i

(B) NH & H P B UM

(C) TH W g &l T AENTRT W&
(D) SFaH i

U ¥ 410 999 o 9141 o1 S W

=1feT ?

(A) T& AR I 851 6 Hehe
E K

(B) F=zmiasd

(C) Tae @ i+ 2-5 i/ Fre & gar
MR

(D) 3% 4 Tt

TR W QAT T8 7
(A) T

(B) Tawmman

(C) STaHT 3TN T

(D) 3F T H gt

Frforfga # @ F9-u1 v W Tam
!

(A) =&

(B) dTdT%eH

(C) UERe dfeelyH

(D) Hqfera damA



MKG-XXIV/TECHSW/1T/08

182.

183.

184.

185.

186.

Non potable water can be treated
to make it potable by which of the
following method ?

(A) Boailing

(B) Chlorination
(C) Filtration

(D) All of the above

Which of the following is a secondary
air pollutants ?

(A) CO

(B) CO,

(C) Photochemical smog

(D) Volatile organic compounds

Which of the following is a
non-communicable disease ?

(A) Marasmus
(B) TB

(C) Cold

(D) Cholera

Which of the followingis a direct method
of spreading infection of Measles ?

(A) Fomites

(B) Vectors

(C) Contact with diseased person
(D) Water :

Which of the measures plays a
very important role in control of
communicable diseases ?

(A) Immunization
(B) X-rays

(C) Ultrasound
(D) First Aid

187.

188.

189.

190.

191.

192.

et b Sisin |
Tuberculosis can be controlled by
(A) BCG

(B) Regular course of Antibiotics

(C) Isolation of the patient’s clothes and
utensils

(D) All of the above

Which of the following measures helps
in controlling malaria ?

(A) Mosquito repellents

(B) Mosquito net

(C) Prevention of stagnation of water
(D) All of the above

Which of the following disease can be
prevented by vaccination ?

(A) Measles (B) Obesity
(C) Hypertension (D) Cancer

The first breast milk is called as
(A) Colostrum

(B) Immunoglobulins

(C) Breast milk

(D) None of the above

Which of the following deficiency leads
to Xerophthalmia ?

(A) Vitamin A
(C) Vitamin B

(B) Vitamin C
(D) Vitamin D

What is the main function of
Carbohydrates ?

(A) Energy giving

(B) Regulatory

(C) Body building

(D) None of the above
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194.
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196.

Which of the following is a preventive
step to control HIV/AIDS ?

(A) Restrict the number of sex partners
to one

(B) Shaking hands
(C) Kissing on the cheeks
(D) Using the same toilet seat

Identify the body building food from the
following

(A) Pulses
(B) Fruits

(C) Cereals
(D) Vegetables

The ability of the body to resist a
particular disease is called

(A) Immunity
(B) Natural history of the disease
(C) Pathogenesis

(D) None of the above

Which of the following is a simple lipid ?
(A) Triglycerides

(B) Cholesterol

(C) Phospholipids

(D) None of the above

197;

198.

199

200.

Fats which are separated from their
natural sources are called

(A) Visible source
(B) Invisible source
(C) Lipids

(D) Cholesterol

One gram of fat provides Kcal

energy.
(A) 9
B) 7
C) 4
(D) 10

The chemical substances leading to the
development of the goitre is called

(A) Fats

(B) Carbohydrates
(C) Goitrogens

(D) None of the above

Inadequate intake of Fluorine leads to
(A) Cancer

(B) Hypertension

(C) Dental caries

(D) Pleural effusion
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IMPORTANT INSTRUCTIONS TO CANDIDATES
safigari & fore wewagut s

13.

14.

15.

7 2

18.

19.

This booklet contains 40 pages.

Directions : Each question or incomplete
statement is followed by four alternative
suggested answers or completions. In each
case, you are required to select the one that
correctly answers the question or completes the
statement and blacken (@) appropriate circle
A, B, C or D by Biue / Black Ball-Point Pen
against the question concerned in the Answer
Sheet. (For V.H. candidates corresponding
circle will be blackened by the scribe)

Mark your answer by shading the appropriate
circle against each question. The circle
should be shaded completely without leaving
any space. The correct method of shading is
given below.

Wraong Method

O®00O

Wrong Method

C&O00

Wrong Method

0®00

Correct Method

CeCO

The Candidate must mark his/her response
after careful consideration.

16. There is only one correct answer to each
question. You should blacken (@) the circle of
the appropriate column, viz.,, A, B, CorD. If
you blacken (@) more than one circle against
any one question, the answer will be treated
as wrong.

In case of any discrepancy between the
English and Hindi versions of any question,
the English version will be treated as final/
authentic.

Use the space for rough work given in the
Question Booklet only and not on the Answer
Sheet.

You are NOT required to mark your answers
in this Booklet. All answers must be indicated
in the Answer Sheet only.
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18.

19.
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